. ALLEN Inverse Trigonometry Function
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Inverse Trigonometry Function

Sol.

ALLEN .

SOLUTION
Official Ans. by NTA (1)

f(x)= sin(I le +5)

x +1
For domain :

IxI+5<1

-1< <
x> +1

Since Ixl + 5 & x2 + 1 is always positive

Ix1+5
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So

So for domain :
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3 <
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=SIxl+5<x2+1
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Ix 1< 5 (Rejected)
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So, a=
2

Sol.

Sol.

Official Ans. by NTA (3)

27 — (sin_1 [iJ +sin”! [iJ +sin”! [ED
5 13 65
=2m— (taln_1 [iJ +tan”! [ij +tan ! [ED
3 12 63
=2n—| tan”" (@ +tan”! (Ej
16 63

=2n—£=ﬁ
2 2

Official Ans. by NTA (4)
1(1) 1(1) 1(1)
S=tan | —|+tan | —|+tan | — [+...
3 7 13

2—-1 2
S = tan—l(1+1 2)+ tan-! ) + tan-!

(1+2><3

( 4-3 ) . _1( 11-10 )
1+3xa ) T T 0wl

S =(tan"!2 —tan"! 1) + (tan~! 3 —tan! 2) +
(tan~! 4 —tan~! 3) +... + (tan~! (11) —tan-1(10))

S=tan! 11 —tan"! 1 =tan™ -1
1+11
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